2023 MEH211] Ot Y M =5

NO = M2 WA " | 33| B | 3™

1 [1%E = & EU0lx 22,000 19,800 1 19,800
2 |1.,0008t 222 A=F He R34 Z0H 0128 18,000 16,200 1 16,200
3 |1I0E <t 0Ll az SAd 16,900 15,210 1 15,210
4 |10HE <IetA OtHtEH X =€ bo[REIDN R 16,800 15,120 1 15,120
5 [10LHE <et S24 =¥ A EM 16,000 14,400 1 14,400
6 (1S58 aE4 SHE 13,000 11,700 1 11,700
7 (2023 AE=AF2e|AF HO+AD| SHAEA ACHIDAID| = 35,000 31,500 1 31,500
8 12050 DI= MM AAHBH AlLtel2 Z G A 22,000 19,800 1 19,800
9 4.3 25| & 14,500 13,050 1 13,050
10 [6& 2t B2 AlFoh= 0Ict2 J1E2 A= THoHY clAS 20,000 18,000 1 18,000
11 |Go Go It Zalx 1: ZHA == 14,800 13,320 1 13,320
12 [Go Go It Imal X 2: &= orE= 14,800 13,320 1 13,320
13 [Go Go It Ea X 3: L= or== 14,800 13,320 1 13,320
14 [Go Go IIIIZRZE. 4: 0/= or== 14,800 13,320 1 13,320
15 [|Go Go It EE X 5 S=2H otE= 14,800 13,320 1 13,320
16 [Go Go IIItIZ@lx. 6: OIE2/O0t or== 14,800 13,320 1 13,320
17 [Go Go IIFtIZEl X, 7! = otE= 14,800 13,320 1 13,320
18 [Go Go IIItZ@lX. 8: QI or== 14,800 13,320 1 13,320
19 [Go Go It EZal X, 9: AMHQ otE= 14,800 13,320 1 13,320
20 |Go Go ot ImEl X, 10: OIEE orE= 14,800 13,320 1 13,320
21 |Go Go IotE@l X 11: &= otE= 14,800 13,320 1 13,320
22 |Go Go ot mal X 12: H3| or== 14,800 13,320 1 13,320
23 [Go Go IIItZ@l X, 13: S otE= 14,800 13,320 1 13,320
24 |Go Go ot Imal X 14: dela == 14,800 13,320 1 13,320
25 [Go Go 2tFtZal X, 15 Set& otE= 14,800 13,320 1 13,320
26 |Go Go ot El X, 16: HIEY == 14,800 13,320 1 13,320
27 [Go Go IIFtRZ X, 17: 2{AlOt otE= 14,800 13,320 1 13,320
28 [Go Go 2FItIZ’lXx. 18: LA EC|O} == 14,800 13,320 1 13,320
29 [Go Go 2tFtZ@l X, 19: &t=. 2 otE= 14,800 13,320 1 13,320
30 |Go Go ItotmEl X 20: 8t=. 3 == 14,800 13,320 1 13,320
31 [Go Go ItFtZ el X, 21: SHLICH otE= 14,800 13,320 1 13,320
32 |Go Go ot El X 22: HF == 14,800 13,320 1 13,320
33 [Go Go IIFtZal X, 23: AMJtZ= == 14,800 13,320 1 13,320
34 |Go Go It El X 24: ARE == 12,000 10,800 1 10,800
35 [Go Go 2IFtZ@lXx 25: HEE otE= 14,800 13,320 1 13,320
36 [Go Go T X 26: S == 14,800 13,320 1 13,320
37 |Go Go IIHLEH=X 27: AA == 14,800 13,320 1 13,320
38 |Go Go It al X 28: Ef= == 14,800 13,320 1 13,320
39 [Go Go IIHLEE =X 29: HWA|D == 14,800 13,320 1 13,320




Go Go Ittt al X XIHAEA 1: OlOIE SUH<E == 14,800 13,320 1 13,320
Go Go It X XtHAEAL 20 Atotel A2 == 14,800 13,320 1 13,320
Go Go it el X XA A 31 et A HE == 14,800 13,320 1 13,320
Go Go D1 Ite=elx XNHEA 40 MEANE MEILE Ol=2= 14,800 13,320 1 13,320
Jokes JHJt sEots H 2017 H2EA 15,000 13,500 1 13,500
Jtot=et A0M Z20A 82, 2l AsLIT OtAIE 2 16,800 15,120 1 15,120
JHE = A0 g = Y0 g+ A ZHAESA 18,000 16,200 1 16,200
ZS A OEH ERASD? BIHANE 15,000 13,500 1 13,500
WO 2= M&0l Eoletn? =4 14,000 12,600 1 12,600
HE LUACH. 1 IZEGIEN 13,000 11,700 1 11,700
HE LRACH. 2 IZEOIRAN 13,000 11,700 1 11,700
HE LUCH. 3 IZEGIEN 13,000 11,700 1 11,700
HE LUACH. 4 IZEOIRAN 13,000 11,700 1 11,700
HE LUCH. 5 IZEGIEN 13,000 11,700 1 11,700
HE LRUACH. 6 IZEGIRAN 13,000 11,700 1 11,700
HE EUACH. 7 IZEGIEN 13,000 11,700 1 11,700
Hel 2 =29 & A 28,000 25,200 1 25,200
ASAMA=SISII=A HEA IASH? BIHAUE 15,000 13,500 1 13,500
HSINET OEN EAS D BHIHABE 15,000 13,500 1 13,500
JEZ HEAH ZASW? BIHAUE 15,000 13,500 1 13,500
dE2 HEH ST MAX =0t == 29,000 26,100 1 26,100
HetHotSH X 22X ctH ZA374 14,000 12,600 1 12,600
LSS0l 250 Chakzh gt 18,000 16,200 1 16,200
=5 BE =22 1: =24 HiHl 45 AtA NES23HAH 14,000 12,600 1 12,600
=% B3 d=22 2! =340l 22 2g N=Z23tAt 14,000 12,600 1 12,600
=& BE =2 3: 2RI E012 22 XAt NES23HAH 14,000 12,600 1 12,600
=25 €& ZE= 4: ots4 &= Uas N=Z23tAt 14,000 12,600 1 12,600
Sdotl= & 2tol =il el 18,000 16,200 1 16,200
WA UK 2= Z3st M2AsS fclstu 14,000 12,600 1 12,600
wWIHS =8 AledlmE 88 ANE SCEME 99,000 89, 100 1 89, 100
WA IE ZIAS? BIHACE 15,000 13,500 1 13,500
o 59 2L 12,000 10,800 1 10,800
HEASH Y UG Ot IO = 23,000 20,700 1 20,700
g = Ao S& X A6HF 16,800 15,120 1 15,120
M XILEIHA otct FEsE 18,000 16,200 1 16,200
=534 5 s sl 12,000 10,800 1 10,800
=248 6 =Sl 13,000 11,700 1 11,700
=sad 7 Essul 14,000 12,600 1 12,600
=24 8 =Sl 17,000 15,300 1 15,300
JIE0l oLi= A2, 49 NolEd 13,500 12,150 1 12,150
A Mo g Al 2 e8P 18,000 16,200 1 16,200
Z42010 Ctatetol = 16,000 14,400 1 14,400
MR F0oi2 s 100 AAAF 22,000 19,800 1 19,800




83 [Ed=ULIE ZOIA 2HAZS 18,000 16,200 16,200
84 |Z& A0l W2 IZESIEN 23,000 20,700 20,700
85 [Ltel & =X gmUl HOIESA 17,000 15,300 15,300
86 [LI EXt2 e 8 (2tst) CloHM & &EH 15,000 13,500 13,500
87 |Lt EX2 gl 9(etst) CIHM & Ed 15,000 13,500 13,500
88 |ECIE LA A02 ME 4Al HEYEIA 16,000 14,400 14,400
89 [LHES <I8 W & i 14,000 12,600 12,600
9 U =ac ALH & 13,000 11,700 11,700
91 |UIJE A= 2< =gl 16,000 14,400 14,400
92 [« 2AU4Dl e=gall 10,000 9,000 9,000
9 [=el= us s felstn 22,000 19,800 19,800
94 |HE HEAN MasS 20t BFCHE B AL 15,000 13,500 13,500
95 (= & ALY StAIEEA 15,000 13,500 13,500
96 (Xl HIY #O0|0t ASUIE 14,500 13,050 13,050
97 |€822 HiRs A+Ed =Y S+ 15,000 13,500 13,500
98 |€2 01O EYAESEA 17,000 15,300 15,300
99 |42 A0 L0l & &LInt? goielsye 19,000 17,100 17,100
100 [==%2 E&E oazA 18,800 16,920 16,920
101 [SAl2t O ==tast 9 sl 19,500 17,550 17,550
102 |=AM2 I8 Hecel=2 18,000 16,200 16,200
103 [=2 BOoU= M, H2= NEAMAH 25,000 22,500 22,500
104 |=2 &8, 220 SHLN? SOoroi] 15,000 13,500 108,000
105 |S S - ASAF HEH ZIUSHH? BHIHABE 15,000 13,500 13,500
106 |€ICH! OIOIINE St= 24Al2t OIXIAIHE e 16,000 14,400 14,400
107 [ == Ctat=A 18,800 16,920 16,920
108 |£ 2 Higl SAHS HHCH 17,800 16,020 16,020
109 [ellol =2 ALOIE CH =2 M OHOI 16,000 14,400 14,400
110 |OHA M & goiesye 15,000 13,500 13,500
M (DI EXE 57 W £ et ds o= 14,000 12,600 12,600
2 (Ot EXE 58: = 41 g2 ChettH! e == 14,000 12,600 12,600
13 (DI EXE 59: o A4S OIHECH Hs == 14,000 12,600 12,600
114 [DFAIX @22 += 8l ZoILINR OLOICIO = A 17,000 15,300 15,300
115 |OHAIE OIE I SIAS D BIHACE 15,000 13,500 13,500
116 |12 Sl AHs2 4L chel= 15,000 13,500 13,500
17 |24 & etat =242 16,800 15,120 15,120
18 (2= Z£0 S0 LIk= @st N& = 17,500 15,750 15,750
119 |12= MLt 13,000 11,700 11,700
120 128 012 CH & Ml OtOI 12,000 10,800 10,800
71|22 gXe us 32 = Hil oK 17,500 15,750 15,750
122 |0IcHE HIE 08 JHAI €10els glol2sd 18,800 16,920 16,920
123 |2 =22t AtzlF2 S AL 12,000 10,800 10,800
124 [BICHE Scle B2E 22 16,000 14,400 14,400
125 [BICHOE Scl= Bod 2 22 15,000 13,500 13,500




126 |EHAIEHOl TN cdAL 4: CHSE XY &, R0t= 1 SOHUAE 14,500 13,050 13,050
127 Bt E 22 A YW 22 1 2o A 15,000 13,500 13,500
128 [BHE 2 MO AW} 22 2 XA 15,000 13,500 13,500
129 (& A AHY 20 13,000 11,700 11,700
130 (HIEY & H StAIEEA 18,000 16,200 16,200
131 |24 Ok 1002 =Ol OF 404 off & 21,000 18,900 18,900
132 (2 8& HE 2 LIS & 2 Xt 14,000 12,600 12,600
133 [HIOF @8 Fel= &3 2dI0IotE AN 16,800 15,120 15,120
134 |BIA2 IZEOIRA 14,800 13,320 13,320
135 |22 =% =gl 14,000 12,600 12,600
136 (EME. 1 =22 13,000 11,700 11,700
137 [EME. 2 =2c2 13,000 11,700 11,700
138 [HME. 3 =22 13,000 11,700 11,700
139 [EME. 4 =222 13,000 11,700 11,700
140 [BME. 5 E2c2 13,000 11,700 11,700
141 ([EIE. 6 sE5ce 13,000 11,700 11,700
142 |18 RE. 7 =22 14,000 12,600 12,600
143 |8 ME. 8 S2c2 14,000 12,600 12,600
144 [HME. 9 =22 15,000 13,500 13,500
145 [AFAIE D1 S 17,500 15,750 15,750
146 |AIOIAAE WSS 1 SHLAE 18,000 16,200 16,200
147 (MBS XIAH HEA & ASIH? BIHAUE 15,000 13,500 13,500
148 M2 &= sl 16,000 14,400 14,400
149 (M U= X NI LA 17,000 15,300 15,300
150 N2 SRS A2 FLIHZSEA 8,500 7,650 7,650
/1|88y, LI AU K? B2t H 3 13,000 11,700 11,700
152 [d&H 201, 1 MHor==2 12,000 10,800 10,800
153 [d&H L2t0I=. 2 HOoIZ=2 12,000 10,800 10,800
154 [8&3H L2t0IS. 3 Haor==2 12,000 10,800 10,800
155 (8 & A L2t0I=. 4 HOoIZ=2 12,000 10,800 10,800
156 (22142 st=At 2 22 3040l 13,000 11,700 11,700
157 (22142 st=At HE2E 23 &= 0t0l 13,000 11,700 11,700
158 (20142 t=2AI HE2E 24 3040l 13,000 11,700 11,700
159 (22l st=At HE2E 25 &= 0t0l 13,000 11,700 11,700
160 (22142 st=At 2 26 3040l 13,000 11,700 11,700
161 |43ote LEScI2= 2 AT SHLOICIN 22,000 19,800 19,800
162 [AlA 2 XHAl SOFAIOF 16,800 15,120 15,120
163 [MIAHI Z2 #HA A2 35,000 31,500 31,500
164 |M&OIA Dt <8 21 O 13,000 11,700 11,700
165 |AE 01 UAJATH NolEd 13,500 12,150 12,150
166 (A2 OIENH ZAS BIHACE 15,000 13,500 13,500
167 | 2ZEAHMLR HEH ZIUASHH? BHIHABE 15,000 13,500 13,500
168 |[AZERO MaS s BRE e st OLaHHID 22,000 19,800 19,800




169 (& 0l 28 AtE S SEsH 20,000 18,000 1 18,000
170 |=0ll HIZ WMY= Soid &3 StE M2 18,000 16,200 1 16,200
71 (=3 3td FLOE S 8,500 7,650 1 7,650
172 [#=S10l E0l= JIRC 2d=50HH e 16,800 15,120 1 15,120
173 =52 € 8 Ol Ol =0 C 16,000 14,400 1 14,400
74 1==2 9 OOl £ 0IC 16,000 14,400 1 14,400
175 [A2= d= OEH =HASH BHIHABE 15,000 13,500 1 13,500
176 |[AE= EdlolH OEN =ASIH? BIHANE 15,000 13,500 1 13,500
77 |A2x OEHZ &tle A SI2LIS 15,000 13,500 1 13,500
178 |E2 0 EHE E34 15,000 13,500 1 13,500
179 (Al &S & Al Y Ol 11,200 10,080 1 10,080
180 [ASSSII=X HEH ZASH? BIHANE 15,000 13,500 1 13,500
181 JADJIE. 1 cil &1 i & Bl 2 14,000 12,600 1 12,600
182 |MIDIE. 2 ol &1 et E Bl O 14,000 12,600 1 12,600
183 [&IJI=. 3 didZ YA 15,000 13,500 1 13,500
184 [&IDI=. 4 d& A 15,000 13,500 1 13,500
185 |MDJIE 5 cil &1 i & Bl 2 16,000 14,400 1 14,400
186 |&IJI= 6 oil &1 et E Bl 2 15,000 13,500 1 13,500
187 |MDIE 7 didZ YA 16,000 14,400 1 14,400
188 |&IJIS 8(&t&) oil &1 et E B O 18,000 16,200 1 16,200
189 (&l & 11 oA 15,000 13,500 1 13,500
190 (&l & 12 A 15,000 13,500 1 13,500
191 (&2 & 13 oA 15,000 13,500 1 13,500
192 [&& H==O0HE DIY orgiolcioo 27,000 24,300 1 24,300
193 [&1dt, "ol JbAt AHH & 15,000 13,500 1 13,500
194 |0tAI =l =52 0= 12,000 10,800 1 10,800
195 [Ot== 3|0I&t HL2 % =Sl 16,800 15,120 1 15,120
196 [etg, olic SHAL2 St AL 6,000 5,400 1 5,400
197 |0k w DtAl 25A 16,800 15,120 1 15,120
198 |0k = o] =&tst 1 A 14,000 12,600 1 12,600
199 [OFX s o] st 2 oA 14,000 12,600 1 12,600
200 |OFXH= ol S&¢st. 3 A 14,000 12,600 1 12,600
201 [OFi= el S2st 4 oA 15,000 13,500 1 13,500
202 |22 rost B OH TIFH A 15,000 13,500 1 13,500
203 [olcl& 2 &0 2l E4l 18,300 16,470 1 16,470
204 |[iL|2 AEA &Hl 16,000 14,400 1 14,400
205 | A Aloiger. 10 & <A 0t20] Dl&el CH& Ml otOl 5,500 4,950 1 4,950
206 |Hd AlC&Eet. 2: & <A 0t2el Dlxel CH & Ml OtOI 5,500 4,950 1 4,950
207 |94 Aloiger. 3: & <A 0t20] Dl&el CH& Ml otOl 5,500 4,950 1 4,950
208 | d AlCEet 41 E& A 0t0l Ol=2l CH & Ml OtOI 5,500 4,950 1 4,950
209 |94 AlOiZer 50 E& A 0t20! Ol&e CH& Ml otOl 5,500 4,950 1 4,950
210 | Aldl&et 6: E& A 0t0l Ol=2l CH & Ml OtOI 5,500 4,950 1 4,950
211 (el AlCIgct 3 2FA0L20] 0I%2l 7 CH & Ml OtOl 5,500 4,950 1 4,950




212 = OFAL Ot20! Ol%Zel CH& M OHOI ,500 4,950 4,950
213 G kAL OF20] OI%el CH & Ml OtOl ,500 4,950 4,950
214 IEE SFAF Ot20] OI%el 10 CH& M OHOI ,500 4,950 4,950
215 =5 2= ,800 12,420 12,420
216 0l Fsrsul ,800 , 120 , 120
217 N= J|Ctel ,800 ,120 ,120
218 [ =t Fsrsul ,500 ,250 ,250
219 22 e ,000 ,500 ,500
220 23 A ,000 ,500 ,500
221 24 a3 ,000 ,500 ,500
222 25 oA ,000 ,500 ,500
223 26 e ,000 ,500 ,500
224 27 A ,000 ,500 ,500
225 28 a3 ,000 ,500 ,500
226 29 oA ,000 ,500 ,500
227 30 e ,000 ,500 ,500
228 (2= & MOt el # el E ,000 ,500 ,500
229 |2=% Lot S LT R RSy ,800 ,120 ,120
230 |2s% APEAE OH. 1 IZESIEAN ,000 ,700 ,700
231|12=% MEAE OH. 2 FZEOIEN ,000 ,700 ,700
232 |1RLEE AMEAHY 3 ZESIEN ,000 ,700 ,700
233 |2=% AHEHAHE 4 FZEOIEN ,000 ,700 ,700
234 |12LES AMEAHY 5 IZESIEN ,000 ,700 ,700
235 |12=% AHEHAHE 6 FZEOIEN ,000 ,700 ,700
236 |RLEE AMEAHY 7 ZESIEN ,000 ,600 ,600
237 |2=% AHEAHE 8 FZEOIEN ,000 ,600 ,600
238 |12=% AEAE OH. 9 IZESIEN ,000 ,600 ,600
239 |2RetolA BH B ,000 ,900 ,900
240 |2EHE IR £ U= AMUET QELE ,800 ,820 ,820
241 |2 =8 F=AWA FAIHE =0C& 2 A ,800 ,120 ,120
242 |1 ol HASEN?: S=. 1 JIgloItio ,000 ,900 ,900
243 |2 ol HASh?: S2. 2 Jigloltioo ,000 ,900 ,900
244 | H MASM?: M2 JIgloIitio ,000 ,900 ,900
245 | 2H UAS?: A=, Jigloltioo ,000 ,900 ,900
246 | A MASN?: A=, JIgloIitio ,000 ,900 ,900
247 | 2H UAS?: S4l. Jigloltioo ,000 ,900 ,900
248 | A MASN?: SA. JIgloIitio ,000 ,900 ,900
249 | 2H HASM?: I JIiglolitioo ,000 ,900 ,900
250 | A MASM?: XA, JIgloIitio ,000 ,900 ,900
251 | MASHH?: NHF. JIiglolitioo ,000 ,900 ,900
252 |2 AUS Dt BIHACE ,000 ,500 ,500
253 |fel= ol S0l 2Lt StEAM2M ,000 ,200 ,200
254 |13 2El5tet(102 2 St J18 E8H) Zoox2e ,800 ,820 ,820




255 |AICIXOIE OIENH ZIASIH? BHIHABE 15,000 13,500 13,500
256 [AEXI HEN ZASM? BIHACE 15,000 13,500 13,500
257 |5 E ZcloOoIeH HHEAN ZIASH? BHAME 15,000 13,500 13,500
258 |REES U2 A= J|H SR/RESA 19,500 17,550 17,550
259 || AlUIOH HI XK 16,800 15,120 15,120
260 |2 A HEAH ZIASHH? BIHACE 15,000 13,500 13,500
261|018 & & RE 7 SHO0lA 15,500 13,950 13,950
262|018 ME & SEGH 8 SHO0olA 15,500 13,950 13,950
263 |[0I1EE S2It MOIJAM K= =2+ Ct&k 3.0 18,000 16,200 16,200
264 [2H =N SSKHUHE 2 ALH & 16,800 15,120 15,120
265 |19 & A3 21HIDIS A 38,000 34,200 34,200
266 |2 &0 DSt EX MF 6 HA=I20 18,900 17,010 17,010
267 |22 & =gl 16,800 15,120 15,120
268 [ArH LSRR HEH TASH? BIHANE 15,000 13,500 13,500
269 [MOIAE AMS3s2 AA Z=ShA 26,000 23,400 23,400
270 [MA Qo = (2N B A L) EstsUl 16,500 14,850 14,850
2N [HAE Oof Z2HE g 12,000 10,800 10,800
272 |[Mete, A3 01 HBAL M 15,000 13,500 13,500
2I3 | E I8 Al elEsh: M- 25 IHXI 16,000 14,400 14,400
274 |8 XI&E =X A3 PART 4: 1 HITH 13,500 12,150 12,150
275 |8 XHE =X+ AlE PART 4: 2 Bl xh 13,500 12,150 12,150
276 |8 XI&E =X A& PART 4: 3 HITH 13,500 12,150 12,150
277 |8 KA =X AIE PART 4: 4 Bl xh 13,500 12,150 12,150
278 |8 XI&E =X A& PART 5: 1 HITH 13,500 12,150 12,150
279 |8 XA =X+ AlE PART 5: 2 Bl xh 13,500 12,150 12,150
280 |MAMHME N2 HE29 5SS LI NES23HAH 13,000 11,700 11,700
281|182 JI¥E (=S 16,800 15,120 15,120
282 |F=EHY0l =eite Ot= 0= 10,000 9,000 9,000
283 [Ag=22l HEN =ASH? BIHACE 15,000 13,500 13,500
284 |&IM M= A dld Mol 21,000 18,900 18,900
285 [& Olatet M= Al EH W= 16,500 14,850 14,850
286 |& JHSl ZErEt EHES sSU=2g 16,000 14,400 14,400
287 |=8 oLt SIS At 16,800 15,120 15,120
288 |xIBI=2 OS2 E WMt FAZEIEAN 18,800 16,920 16,920
289 |2l o R2 2RIY=T 16,800 15,120 15,120
290 | =l ABHe Bt= A T EMOIX 18,000 16,200 16,200
291 [Fdlet. 1 e 10,800 9,720 9,720
292 |Ftilet. 2 Z 10,800 9,720 9,720
293 [FHlct. 3 e 13,800 12,420 12,420
294 |2tiiet. 4 Z 10,800 9,720 9,720
295 [FHlet. 5 e 10,800 9,720 9,720
296 | tilct. 6 Z 10,800 9,720 9,720
297 [=dlet. 7 e 11,800 10,620 10,620




298 | tilct. 8 22 11,800 10,620 1 10,620
299 |Ftiict. AlIE2. 1 EE) 14,800 13,320 1 13,320
300 |FHlet AlE2. 2 22 14,800 13,320 1 13,320
301 |=tiet AlE2. 3 EE) 14,800 13,320 1 13,320
302 |RHlict AIE2 4 2 14,800 13,320 1 13,320
303 |FHllet AIE2 5 EE) 15,800 14,220 1 14,220
304 |EtOIY . 1 ZEOIRA 15,500 13,950 1 13,950
305 |EtOIY. 2 SAES=he Bapa 15,500 13,950 1 13,950
306 |EIOIY . 3 IZEOIRA 15,500 13,950 1 13,950
307 |ESES =X HENA ZIASHH? BIHAME 15,000 13,500 1 13,500
308 |[EEIS 2elot 2024 Olchel & 19,000 17,100 1 17,100
309 |®El HZH e ¥ =9 12,000 10,800 1 10,800
310 |BIEtL . JI1HS ASHE MO =82 020l "AL AR 20,000 18,000 1 18,000
31T |FEAELCIAE HEAH EHAS? BIHAME 15,000 13,500 1 13,500
312 |FHt2, OHohe =l A S ==L 20,000 18,000 1 18,000
313 |FEE =0l= 29 YHY OlEt= A 18,800 16,920 1 16,920
34 |FH 22 HAAF 19,800 17,820 1 17,820
315 [Z20IH OEN ZASN? BIHAUE 15,000 13,500 1 13,500
316 (2R == EX Chakzh gt 14,000 12,600 1 12,600
317 | 2ctd oazA 17,800 16,020 1 16,020
318 [ot=1t dte&hot E1t 12k HECHE B AL 17,800 16,020 1 16,020
319 [StWOIA JI2EX™ =X &= =5 0108 HUR 14,000 12,600 1 12,600
320 [etXI0f molet = HE LIS 11,000 9,900 1 9,900
321 |80t & AZ2S orc|ol=A 25,000 22,500 1 22,500
322 ([ega 24 A gell 14,000 12,600 1 12,600
323 |2 A BEs@l SEctk 16,800 15,120 1 15,120
324 (20 S0, 1 EE) 14,800 13,320 1 13,320
325|220 SHAR 2 Z ) 14,800 13,320 1 13,320
326 (20l S02t 3 Rl 14,800 13,320 1 13,320
327 |20 S02AR 4 Z )] 14,800 13,320 1 13,320
328 [EX At=0l =0lcet= JAO00FXI JtLE S EAL 13,800 12,420 1 12,420
329 |atat Bt 3 OOl L0 C 16,000 14,400 1 14,400
330 =ttt 4 OOl & :Z0IC 16,000 14,400 1 14,400
331 |8 &2 i el 18,800 16,920 1 16,920

& i Al 338 4,697,550




